um@ﬁ@ﬂ ﬁm@[@?@]@ Manufactured by:

ICP Corporation (Canada)

OCAZO AND OCA24 MODELS 3400 Industrial Blv Sherbrooke PQ Canada

Oil coil adapter OC20
Used with EPD / EXM / EPM / EXD and EED “B15” series cased coil.

1- Fix all parts with the supplied screws as shown on drawing. Cut and install the felts as
shown on drawing.

SCREW #B8-18 X 1/2

DNS-0686 Rev. A

2- Fix the OCA and “B15” series cased coil on the furnace as shown on drawing.

BEND THE CASED COIL BRACKET
90" AND SCREW IT ON THE OCA
USING THE SUPPLIED SCREW.
BEND THE CASED COIL BRACKET
180" AND SCREW IT ON THE OCA
USING THE SUPPLIED SCREW.

USED THE EXISTING
SCREW AT THIS PLACE.

BEND THE CASED COIL BRACKET
180" AND SCREW IT ON THE OCA
USING THE SUPPUED SCREW.

SCREW #8-18 X '

DNS-0687 Rev. A

Print in Canada 1 2000/08/22 X40062 Rev. A

445 01 4062 00




Oil coil adapter OC20

Used with EPD / EXM / EPM / EXD and EED “F19” series cased coil.

1- Fix all parts with the supplied screws as shown on drawing. Cut and install the felts as

shown on drawing.

SCREW #8—18 X 1/2
DNS-0686 Rev. A

2- Fix the OCA and “F19” series cased coil on the furnace as shown on drawing.

BEND THE CASED COIL BRACKU\
90" AND SCREW IT ON THE OCA AN -
USING THE SUPPLIED SCREW. N -

- o 8
BEND THE CASED COIL BRACKET # \
90" AND SCREW IT ON THE OCA

—H — T

USING THE SUPPLIED SCREW. “
SCREW #8-18 X 1/2

DNS-0687 Rev. A

BEND THE CASED COIL BRACKET
180" AND SCREW IT ON THE OCA
USING THE SUPPLED SCREW.

USED THE EXISTING
SCREW AT THIS PLACE.




Oil coil adapter OC24
Used with EPD / EXM / EPM / EXD and EED “J22” series cased coil.

1- Fix all parts with the supplied screws as shown on drawing. Cut and install the felts as
shown on drawing.

SCREW #8-18 X 1/2
DNS-0686 Rev. A

2- Fix the OCA and “J22" series cased coil on the furnace as shown on drawing.

N
BEND THE CASED COIL BRACKET \

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
USING THE SUPPLED SCREW. N L

180" AND SCREW IT ON THE OCA 0
N S
N // \\ -
. - N
\/ﬁ -7 \\/\;/ BEND THE CASED COIL BRACKET
,;/" ), 180" AND SCREW IT ON THE OCA
- S~ USING THE SUPPLIED SCREW.

USED THE EXISTING

BEND THE CASED COIL BRACKET SCREW AT THIS PLACE.

180" AND SCREW IT ON THE OCA
USING THE SUPPUED SCREW.

DNS-0687 Rev. A




	406200: 445 01 4062 00


